2025/08/23 19:48 1/3 ACOOO

ACC O[O

oo

$AC$ 0 OO $=TRIE+KMP$
0000000000 $TRIE$SODO $Tries 00000 O00DODODOOQ$KMPS 0D OO
gobogooogad

$Trie$ 00000 $tries O $insert$ 0000 D000 0O0ODOO0ODOOOODOODOOOODDOO
gooooooo

00 $fails 000
O$KMP$ OOOODODOOOOODOOOOODOO

$SKMP$ D00 0DOOOU0DODODOO $ACS0D00OD000ODOO0O0O0ODODO $u$sO sfalls0ddnODO
OO0 $v$0%v$ O sus 00O OO0O0ODOODOOODOOOOO

O000000000000 $u$$us 00000 $p$0$ps 0000 $c$ 0000 $u$ 0 $chip]
[cl=u$0 0000000

OO0 $chlfaillpll[cl$ 000000000000 0OO0O0O0ODOO0OO0O $c$00000O00OD0OOODO
OO0 $c$0 0000000000 0O00DO $u$ 0 $fail$ OO OO $chlfaillp]]l [c]$ O

00 $chlfaillpll[cl$ 0000000000000 0C0O0O0ODO0ODOOO $fail$ 000 $chlfail[fail[p]]]
(cl$s 000000000 $fails 0000000 DODOOO0ODOOO $fails00O0OnOO0OO

Ooon

0000 $build()$ 000000 $fails OODCOODOODOOOOOODOD $BFS$0O0O0ODO0OO
O0000000 sfails000000D0OOO00O0ODOO0O0O0ODOOOO0ODOO

O0000000000000 $fails0000000D0000DoO sis0ooooooooogoooon
Os1s00000

O0000000000000000D0000 $BFS$0000DO0ODO00O0ODODODOO0O0O $failsnO0O0O
0000000000000 0 $p$000D0OD000D0ODODO00O0ODOO0O0OOODOOODOOOOd
0000000000000 000D00O0O0000oO000DoogooD sfailsooo00oooOO
gobooobobodooobooobbooobbuooobbooobLbbooobLbooobboobnboa
00000000000 $fails 0000000000000

0000 $query()$ [

O000000000OoOgog snownode$s D0 0000000 $fails0000000O0O0O0O0OOOOO
O0000000000000 $tmpnode$ 0 OO0 $fails DO OOOO $nownode$ [

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:0
2021/07/23 O0:ac000

17:04

00000000 $trie$ 000000 $0(\sum |s_{i}|+n[\sum|+|S))$ 0$n$ 0 $AC$ 0O OO OO D
0000000 $0(0\sum |s_{i}])$

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:%E7%8E%8B%E6%99%BA%E5%BD%AA:ac%E8%87 %AA%ES%8A%AB%E6%ICY%BA&rev=1627031048

#include <bits/stdc++.h>
using namespace std;
typedef long long 11;
#define maxn 1000100
/OO0000ACOO0DO OO0KkmpOO0OTried
//end0 0000000000000 0O0O0OO0OOOO0OO0O0O0OOO0O0OODOOO0
//nxt0 0000000000000 0000O000O0000000d
struct Trie
int nxtimaxn][26],fail[maxn],end[maxn!,vis maxn];
int root,size;
int new node
int i=0; i<26; i++) nxt[sizel[il=-1;
end|size++|=0;
size-1;

void init
size=0;
root=new node( ) ;
memset(vis,0,sizeof(vis));

void insert(char tmp
int len=strlen(tmp),now node=root;
int i=0; i<len; i++
nxt/now node![tmp/i/-'a'|==-1) nxtinow node![tmp[i]-
‘a' l=new _node();
now node=nxt|[now node| tmp(i/-'a']|;

end|/now _node|++;

void build Trie
queue <int> q trie;
faillroot|=root;
int i=0; i<26; i++
' (~nxt[root] i nxt/ root]| il=root;

fail/nxt|[root![i] |=root;
g trie.push(nxt|[root|[i]);

lg trie.empty
int now node=q trie.front();
g trie.pop();
int i=0; 1<26; i++
I'{~nxt/now node![i
nxt [ now node| i|=nxt/fail/now node!|[i];
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fail[nxt/now node| i |=nxt[faillnow node||[i];
g _trie.push(nxtinow node![i]);

int query(char tmp
int len=strlen(tmp),now node=root,ans=0;
int i=0; i<len; i++
now node=nxt|[now node| tmp[i]-
int tmp node=now node;
tmp node!=root&&!vis|[tmp node
ans+=end | tmp node];
end|[tmp node|=0;
vis|[tmp node|=1;
tmp node=fail/tmp node];

a |,

ans;
AC;
int n;
char str ;
int main
scanf("%d",&n);
AC.init();
int i=0; i<n; i++
scanf("%s",str);

AC.insert(str);

AC.build Trie();
scanf("%s",str);
printf("%sd",AC.query(str));
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